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QUESTION 1

What is one benefit of a Dual MHO environment? 

A. Dual MHOs provide redundancy to the Maestro environment by increasing throughput by at least 50 percent. 

B. Dual MHOs allow better synchronization to occur between SGMs. 

C. Dual MHOs allow additional SGMs to be added to the SG. 

D. Dual MHOs can be used to achieve increased scalability and redundancy. 

Correct Answer: D 

 

 

QUESTION 2

What happens when you make changes from Clish on the SMO Master? 

A. The changes are synchronized to the SMS/MDS as a backup. 

B. The changes are synchronized to the MHO as a backup. 

C. Changes are only applied on the SMO Master. 

D. Changes are applied to all members in the SG. 

Correct Answer: C 

 

QUESTION 3

What Maestro component acts as a load balancer and network switch? 

A. Security Switching Module (SSM) 

B. Maestro Hyperscale Orchestrator (MHO) 

C. Security Group (SG) 

D. Security Gateway Module (SGM) 

Correct Answer: B 

 

QUESTION 4

There is a Security group of 10 Appliances and all of them are up and running. How many Appliances within a Security
Group keep the same connection in its connection table in case of NAT? 
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A. Between 2 and 4 

B. All 10 

C. 2 

D. 3 

Correct Answer: A 

 

QUESTION 5

What is the Correction Layer? 

A. Correction Layer is a daemon which corrects errors on Backplane interfaces 

B. Correction Layer is a mechanism which handles asymmetric connections in multi- appliance system. For example, in
case of NAT 

C. Correction Layer is a mechanism which activated in case of asymmetric routing 

D. Correction Layer is a Layer of GAIA OS which corrects misspelled commands and allows them to execute 

Correct Answer: B 

Latest 156-836 Dumps 156-836 PDF Dumps 156-836 Exam Questions

Powered by TCPDF (www.tcpdf.org)

Latest 156-836 Dumps | 156-836 PDF Dumps | 156-836 Exam Questions                                3 / 3

https://www.leads4pass.com/156-836.html
https://www.leads4pass.com/156-836.html
https://www.leads4pass.com/156-836.html
http://www.tcpdf.org
https://www.leads4pass.com/156-836.html
https://www.leads4pass.com/156-836.html
https://www.leads4pass.com/156-836.html

